N of associated (recoToSim) looper tracks vs normalized x*

N of associated (recoToSim) tracks vs normalized X?

[N of reco track vs normalized x2 ]

1] 1] - P— n 1]
X X x X
Q Q [} Q
< < g g
o 3 0] Q
A s 8107
a
=]
k=]
10?
10
il
° o = o o
5 5 g 5
['4 24 o 24
| L gk Hi-F P P :
%93 4 6 8 10 12 14 16 18 20 10 12 14 16 18 20 O 5 4 6 8 10 12 14 16 18 20 © 2 4 6 8§ 1012 14 16 18 20
track x2 track x2 track x2 track x?
[ BT STep 2t ST TewnEoTT
[(Noremotacks ] ——— DRV BIelePE Bl e Ry A 0289 9B br-phase -newgeom
%] 1] 2]
g 2 g
8 8 8
§ 10°k: %
°
5
o




	Contents
	Page 1


